h¥2FE4Eo Ol BxiEEYE RExR R7/7/178R 1
RO1 RO2 RO3 RO4 RO5 R06 R0O7  |RO7-R06
XTREE A 3,251 3,348| 3,280 3,169 3,025 3,135 2,986 A 149
—RIEEZIRE B 1,819 2,249 2,202| 2,060 2,042| 2,705 2,712 7
—RGERR| C 104 67 95 84 55 73 68 A5
HEEREZRER D | E+F 86 56 89 75 45 56 0
HEBMEEL| E 30 17 26 21 9 22
HEERRMELR| F 56 39 63 54 36 34
BREAEZZEN G | H+I+] 30 17 26 21 9 22 0
RRIhESR| H 14 7 16 7 6 8
KBEEHK| | 16 7 10 13 3 14
HERBERZTHRELR| 3 0 1 0 0
BEBREAEERES K 2 0 1 0 1
BREAESRERK L I-K 13 5 10 12 3 13
BREAESDER M |N+O+P 11 5 8 12
RRIhES| N 9 4 4 12
KEHK| O 1 1 1
HEREBERZRER| P 1 0 3
—RIEEZEE (B/A) 55.95%| 67.17%| 67.13%| 65.00%| 67.50%| 86.28%| 90.82%| 4.54%
—RIREFEXR (C/B) 5.7%| 3.0%| 43%| 4.1%| 2.7%| 2.7% 2.5%| -0.19%
EEmRAEZ®E (D/C) 82.7%| 83.6%| 93.7%| 89.3%| 81.8%| 76.7% 0.0%
HmEREBMEEX (E/D) 34.9%| 30.4%| 29.2%| 28.0%| 20.0%| 39.3%| #DIV/0!
pm1EX (E/B) 1.6%| 0.8%| 1.2%| 1.0%| 0.4%| 0.8% 0.0%
BREAEZZX (G/E) 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| #DIV/0!
BEHEZRE (H+)/G) 100.0%| 82.4%| 100.0%| 95.2%| 100.0%| 100.0%| #DIV/0!
BREVAEARINE (H/G) 46.7%| 41.2%| 61.5%| 33.3%| 66.7%| 36.4%| #DIV/0!
BREVAEERINE (H/(H+1) 46.7%| 50.0%| 61.5%| 35.0%| 66.7%| 36.4%| #DIV/0!
BREAESZZE (M/L) 84.6%| 100.0%| 80.0%| 100.0%
BREHESZ®EE (N+0)/M) 90.9%| 100.0%| 62.5%| 100.0%
BREAERIIE (N/M) 81.8%| 80.0%| 50.0%| 100.0%
BREAREAE (N/(N+0)) 90.0%| 80.0%| 80.0%| 100.0%
= (C/B*E/D) 2.0%| 0.9% 1.3% 1.1%| 0.5% 1.1%| #DIV/0!
(z54#%) 0.8%
X (RO2ZKIE) M2 FEREBREERES 1LIIEE. 1LIEHA~EH
X (ROA ) 714 EEHTERERZZE L LIE. EXROEA ST
¥ (ROAKIE) &4 FERELABEON1SL, BET2REELFLZINEHEEH
MATBEE L, 1T % P RIZHE (1,6838) 134L//0vhE, EEMEEIIEHE (3594) IFELISAKE TEE
FRARHE D S bt (1,6674)ICK L, ELISAETOBERELZEN, 121422274, i6944)
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¥ (RO3 PHR) HbFEBREAFRHERERZRE 341L
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2. HERDRERE (ELISAE) OHDBGHE08% & i, EFREEIREE3LIZD D biGEE3E,




DHTEE DE2ELADOURVEXRERE —RRERRER

8 A —RRE —RREGHEE (A5 TEET)
X ¥R e p— £ ERLS w=HE ZRRE R | RSN BEE R R
5 REZH®RE| ZHRPE |BEZRE | ZH=*E &t &t #wHs | #’ia &t H
A B C=B/A D E=D/A F=B+D G=F/A H I J=H+I K=J/F
=x-1 2,986 A\ 2,595 A\ 86.9% 117 A 3.9% 2,712\ 90.8% 66 A\ 2N 638 A 2.5%
RIAYASA 2,781 N 2,595 A\ 93.3% 16 A\ 0.6% 2,611 A 93.9% 66 A\ 1N 66 A\ 2.5%
FRYAYY) 8= 205 A\ — — 101 A 49.3% 101N 49.3%| — 2N 2N 2.0%
EP?ZEEO)E’DUS@“%%% — IR SRR AERIER
RN R1 R2 R3 R4 R5 R6 R7
K ks S RRE B/ R RE K 56.0% 67.2% 67.1% 65.0% 67.5% 86.3% 90.8%
TN TR D TS AR PR C OB MR B8/ T S P PR AR B 3 B 57.1% 68.9% 68.3% 066.3% 68.8% 90.2% 93.9%
LR LI TSV AL LIS C OB BB %5/ 11 3L P AR LA RSB 3K 40.9% 46.8% 52.3% 50.2% 51.1% 39.1% 49.3%
—RIREBEZRE FRER
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80.0%
(o) 0, 0,
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. 56.0% 0
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50.0%
57.1%
40.0%
30.0% / % A A A
Z 46.8% 52.3% 50.2% 51.1% % 49.3%
20.0% 40.9% § 39.1%
10.0%
0.0% LLLLS — - Ll CLL L L L ———
R1 R2 R3 R4 R5 R6 R7
. R H 57.1% 68.9% 68.3% 66.3% 68.8% 90.2% 93.9%
EZZa T 3L R LA 40.9% 46.8% 52.3% 50.2% 51.1% 39.1% 49.3%
—a— {2 R R 56.0% 67.2% 67.1% 65.0% 67.5% 86.3% 90.8%




